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THIREl e g amk | AGE | SBE | 65% | THE | BEE | 0BE | 1065 | 1565
witg kg BfEH | $275 |#825 (4825 [#E% 3 #2548 (#0235 #8732 |#13
i & 36 16 10 3 3 4 - - 1 1
104+ 7 4 i 1 s - - e - =
1 0ALE 8 4 2 - 2 = = i : :
15ALE 4 2 1 - - 1 2 2 = 2
2 0ARLE 5 4 1 - - = 5 : = 2
25 AR 2 - - - > = 2 8 = 2
3 0ALLE 4 = 3 ! - - 4 : " =
3 5ALLE z 1 & - 1 = 4 & . -
4 0 ALEE 1 1 & - - = 4 & . -
4 5ALLE 2 = 4 1 - - 4 & { .
5 0ALLE s - - - . s 3 5 . .
8 0ALLE = - - - . s 3 5 e .
7T O0ALEE 2 = - - - 2 4 = . .
8 0ALLE = - - - < . . . 4 5
9 0ALLE = - - - . . . g 4 p
100ALE 3 = 1 g = 1 - - - 1




